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2. A ‘7(?"1-39':‘6
q) radius = V6 =Y units
b) A-intercepts= -M and +4
c) 8'—ih+ercep{-5 => -N and +M .
d) domain: {9(]-*15_9&'41')(5;{}
@) range - {yl-N=g=d ,YER Y



B x*+ y*=50
a)vradius = ¥60 = \25x2 = 5I2 units
b) Y-intercepts = =52 and S{2
¢) Y-intercepts => ~5V2° and S{2
d) domain i'x | -52<x< 5{2 , xR}
e) range ; f_g \-5@£3£5&T) 58&}




3 '7(24-32 =00

a) 6, ?) by (?2,8)
T %X=-6 TF 4=8
Ly () + Y =100 Ly “x*+ (8)*=100
Db + y'=100 X*+ 6N =100
= IEO'BG: X *= I%O“E:‘*{
AN X% =
=GN *x:ﬁl@%
=_'|."_8 ‘X:+
= (-6,[8D) => (i&l,%)

6 =8) g, 3)



¢) €10, ?) e) (2,5

TE %x=10. ‘ TF =5
L, Qo)* *1—3"* =100 L_>d7(1-1- (5)=1co
|00+ 32-—- Yele A+25=100
= (00— I00 X *= 100725

":O ’X1='75

=" (lO,\E) |




x>+ (502)° =100 ) (o, 2)
w;zss(_z(a) 100 TP X=0
*+50= Ly COY*+ Y =100
A= I00-50 O +§ =100
X = =100-C
%:i; 5C > = 00
=X 25x2 S
X =52 -—+:%C
312],512 ) =0 Riel)
S, 507) @)



N. ,xg._szz 25

a) (-5
L.i R_-_&
(*5)1*;%0) |
oS +O
Q5
Since LS=R.S.

(-5,0) i3 loceded
on the ciccle.

b) (0,25)
R.S
25
LG) 4&5(:2.5)=t
O+ 625
625

Since hS#* RS,
(O 25) iS 1‘]5_‘7!‘ Iocu+ec|
on H*Le, airCle .
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) (o 5)

'7<’-"'+ D5 .
(0)""'4&5)"

O+25
45

Smce L S R 5
Co,9) is \0c0+ed
on the cCircle.

d) (3, )
&ié
(5)2+t1 V) ?
q+ e
25

Since LS=RS,
(B3-M) s \Occr\—ed

on the Cwcle .
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) Lll‘lgjl?_ilzj £) (“Zri,}’\-l)

= m_ ) 2 _
ATy , ©5
LS. RS (-2.-(5)31-1-(*4)
X+ gt = D5 H(%)J-i-_lbb
_ +1
(%) +( 2) DM
©2S + 625 |
A hy Since L‘S-#R-S_,
1250 (-2 \)M) is got
= located onthe
625 Circle .
2

(S:{aﬁc L-S}#)Q-S) ,
|22 ,12'2) is
loccd-':‘:d on -H-%

Circle .
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5.0) (6,0) b) (0,~3)

iy A= 6 and 8-:0 Ly, X=0Oand 3-
=2
(6)%%0) =r* Lo) 3( 3)*=
3o+ O= ™ | O+9 = r
3c=1r? 9 =r*

E)ctgﬁﬁﬁh => ""+31 =306 E[:‘Jua+|0n=> ‘X*ﬁ_a’-:q
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c)(=3,84) d) (I, -

L?‘X SQﬁdEj =N L-J'(X‘fﬂnd 8_ r
r %4
otz I J—) =2
C]'I*Hb'_'l"" | .'.(Q_) =2
25 = 1"'9‘ I + 2,1‘ = r!?.

. ) — 2
Rquation=> o2 yr=25 3=
Eq_}uah on => ,,,{;-:__4_82___ T
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Equahion |Centre| Domain %nﬁt x-int+ | Y-iot
W+ur=N  [(0,0)  [fxl-2¢x<2,xeRS [{yl22ys2, 6k} -2 and 2 |2 and 2
Ky =16 (0,0)  fxi4ex<4,xeR} Hyl-4eys4,4eR2|"4 and 4 |-H and 4
% y*=100 (0,0)  [{xhosxsio,xerE|§y)02ysio, yerd ~1Oand 10 [-1I0 and IO
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7. Mx*+ ‘43"“‘!
O) _L{: ou divide bt’) e common factor

ml"&f’

xX* + 8"" = _L ¥ Now in Standard form of

M Qircle with, Center at (030)

b) ’ﬁﬁ. tadius = \II

l_l
= 1 umts.
2
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C!-) cadius =8 umits

EcLuah oN - X*

2= (8)*

X+ g = eM

b) Point 4,3)

_L‘F'X -‘-l Ondt_r
x4 i
LL&)“‘+(5)"-'
i + 9 -r”—
25=r*%
E’)‘—'Y‘
=

Ecbuc;hon x* + -(5)1
X+ =25

17



c) Peint ({3,-2)

1)-5: X=\3 and }j'—"?. :

A+ =r>
3+ )=
S+4H =¢*

=%

7=r

Equation. o*+ Lg:
’Xi'i-,l % _

d) %-int=-5

l_;, Cnn‘\' S O)
xX="5 c:md 9= =0.

(-‘5)“43(0) =
o +O— r2
&y
| NS =
qu?)“ 5=vr
aation: A+ y*=06)"
]E)Cl_) | n?{+ =925
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e)
kj-m-i- =4

Ly, (2
> + L.
'Tlf?O;\ O(G‘i
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c)(8,%)
TF x=%

,x-u__‘_ 1:6(9
(8)*+4y* =30
eN+4*=36

2= 36N
s

8:'1- -2% _
Ly, Since you cannct take Hhe
{ of & negathve number
In the real umber System.
(8,%) Connct be a point 7
On The arcle.
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